14 W, fism @ 85 ft. 9% F v 39 I97 F+

Ted, FEfh 99 I U H qed T 50 Wiy A .
3R

(1) ¥ 1,07,800
(2) % 1,08,000
(3) ¥ 1,09,800
(4) ¥ 1,00,208
(5) I T A =R

R —

The cost of a solid cylinder of radius 14 m ,, d
height 3-5 m, when the cost of its metal ig = 50

per cubic meter, is':
(1) < 1,07,800
(2) ¥ 1,08,000
(3) ¥ 1,09,800
(4) ¥ 1,00,208
(5) Not attempted

2. AT T 38,000 TN H AWK A fFar | 5 e ¥ A started a business investing T 38,000. After
W% T 55,000 H St W B X Wt T smgw 5 months, B joined him with a capital of
waw fem | 99 & 3@ # = 22,000 # FA AN g3 | Z 55,000. At the end of the year, the total profit
= 8 & -t ofer A o B % @ % wmm o was T 22,000. Which out of the following is the
HEH R ? ~ approximate difference between the shares of
O T1192 proﬁts of Aand B ?

1) =11
(2 1,857 i 2
2) ¥ 1,857
(3) T1,928 @
(3) .7 1,928
(4) T 1,007 A
4) T 1,007
(5) I El &1 =TEd
(5) Not attempted
3. aRuw I 20% &A™ W S5t "g,-?h = 9 8 s If an article is sold at 20 percent profit, then
U 9% 9 qod I Oha 0o § e § 2 which of the following is the ratio of its cost price
1 5:6 to its selling price ? '
(2 6:5 1) 5:6
(3 11:5 (2 6:5
@ 5:11 (3) 11:5
(5) 3 & & =@nEd Aayis
) AR (5) 'Not attempted
- i Hifeqeh @t g i ‘
4. T e B T 18,700 A CEC| q;, 1:? hhih When a plot is sold for Z 18,700, the owner loses
15% 1 7if4 2t 2 l 15% ™ fild 15%. At what price must the plot be sold in order
T daa 2 togain 15% ?
(1). T226500, . 1) T 22,500
(2) = 25,300 (2) ¥ 25,300
(3) ¥ 25800 (3) ¥ 25,800
(4) 21,000 (4) T 21,000
(5) I & & =TR (56) Not attempted
RAMA/D1/Page 2 T% @ & feTg ¥4 | SPACE FOR ROUGH WORK
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?ﬁ?um;i@riéwsq'?ﬁﬁéwaﬁ%aﬂmw

-There are three positive numbers. One-third ‘of

5.
' mﬁ'@g g CEA| H@Tﬁ S'W% | TR Eﬁff e the average of all the three numbers- is 8 less
- 3R gElh e B wE F 8 % | g8 ut than the greatest number. The average of the .
H@Tw% 2 smallest and the second smallest number is 8 '
@ 10 What is the greatest number" g
ot (1) - 10
A 2 11
A9); 14 @ 14 51 ]
R B g w9l &
(5) 3?1’(7{{#%:11313% 2 ~ (5) Not attempted :
(Y1331 x 9216 + Y72 + Y6t ) w2 : - (1331 x Y216 + Y729 + ¥64) isequalto: T
W 79 CEERAT ads ()9 A g |
(2) 14-82 (2) 1482
(3) 90-88 (3) 90-88
(4 1362 - @) 1362
(5). m:ﬁﬁa;"ma (6) Not attempted
. Mr. X has some money with him. He has .to.
7':_ ! X. % Ilmq iﬁlﬁﬁ{lﬁT g ll El'a‘ w ?ﬂlTﬁT Elﬁ Rl distribute this mo'ney’argong five: labourers inth'e‘
Wﬁ2.3.4 5 7%mﬁmm -'iratio%'%‘ 1% % Whatlsthemlmmum,
[ IWh T AR et WlﬁT @:ﬁ ET%Q amount he should have, so that each labourer’
ﬁﬂﬁmwﬁ@mﬁmmiﬁ? . A » \getsanexactnu.mberofrupees‘?
(1) T 420 () 74200 ' |
@ 512 @ 512 el s
@) T599 - (8) 1 T699. 7 '
4) < 358 g @ X858 ‘
5 m:ré’fa:rrirﬁa | T - (B k Not attempted i
8, a2 A &M, B ﬁ I g 10% afﬁq;g aar B ﬁ Ifthe income of A is.10% more than.th.at of B and |
0 o, o f I A 20%3,-”% < T A, B?NTC the income of B 1s20%1essthanthatofC ‘then:
the incomes of A, B and C, respectlvely, are in’
r o # T 8 ‘the ratio : _ v 7
(1) 22:20:25 S 22:20:26 s
(2 10:9:7 . (2) 10:9:7 A
@) 22:18:25 (3) 22:18:25
(4) 11:10:8 4) 11:10:8 :
Ly < 7 3 =l ) Not attempted - il
P e ma;r&%ﬁ-mwm/smce FOR ROUGH WORK R
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The traffic lights at three different signal poin

= ?sr& % ﬁ“—m TUT | SPACE FOR ROUGH WORK

9, 9.
wft &, s 45 ¥, 75 Yk AAr 90 VhS ¥ WG| change after every 45 seconds, 75 seconds ar
.90 seconds respectively. If all chan,
aamﬁﬁlzrﬁaza‘th@m7 20 : 15 W W 15 hours, then they w;
g, 1, 3rTei! simultaneously at 7 : 20 : ours, Wien they wi
) st TR 'QS T = U @1 weehft 2 next change again slmultaneously at :
1) . 7:27:45% (1) 7:27:45hours :
2) ..7:27:30?% (2) 7;27:30hours
3) 7:27:50§% (8) 17:27:50hours
4) 7:28:00%R (4) * 7:28.:00 hours
' (5) _W T S =R F (5) . Not attempted
10. a‘rmaﬁwu‘mm@ %WWWWW 10. The sum of two numbers 1s 45 and thei
gaf wmT } | HEaAl HLCM? : difference. is- one-nlnth of the sum. Then thei
(D 150 & ' LCMis : - '
2 200 (- . 150
3) 250 - @ 200
4 100 @) 250
) wa‘a‘fémm% - 100 4
(5). Not attempted
_Hﬁx@3aﬁqm%aﬂty,x%mﬁﬁm%ﬁ . A ' :
T o 9, o x| U oumber and o o e
‘Hé‘q' 2 - _ : obtained by permuting. the digits of x in amny
faﬂéliélil manner, then (x — y) is always divisible by : -
. 6 L 6
@ 9% (25 9; .
@) 123 ® 12
@ 47 (4) -4
® et T&‘T a:" i (5). Not attempted
L ﬁ’qﬂ”m |12 Thed closest apprommatlon of . the following
i . . : ' pro uct ' :
& _ 0333;::qx§25><0499x0125x24 / 03333x025x0499x0125x24
ﬁareaq is: S
g o 3. th -
S 6 ) A i)
' ') 4 ‘(1)‘; 4;.. '
3 3
2 = 9.
= » %
2 '
@ = L
: 5 (3? 5 -
1 'y 1 :
4 = =
) 8 @) .58 .
(5) I A & ?:n'g% (5) Not attempted
RAMA/D1/Page4 G ——
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18. U yOfy wrymwer sar @7 96 H UGl A I R 1|18, A sum of money at simple interest doubles in
. ﬁﬁﬁﬁaﬁfﬁaﬂ@ﬁwﬁ ? : ‘7ye_ars. It will become four times in :
1) 219§ SO (1) 21years
(2) 38ad (2) 38 years
3) 4279 (8) 42 years
@ 18wd (4) 18 years
5 ?TE% -
(5) I T S (5) Not attempted
14 & 3“3‘1"31}( TH TR et 9 Ges F T M (14 A man and a boy together can do a certain
40 7§ W oww § el s g v R amount of digging in 40 days. Their speeds in
A T I 8 : 5 7 | it dsF B Tl G F " digging are in the ratio 8 : 5. How many days will
o ST, 9t 98 39 HE FI fhad A § qU & the boy take to complete the work if engaged
qra ? ' alone ?
(1 e68fe (1) 68days -
2 8ofe (2) 80 days
(3 104 (3) 104 days
(@ bs2fF (4) 52 days
(5) X &l ¢ ATEd (5) Not attempted
15, .7 126 iy feclom @ <135 9fd FRem B 9915 Tea worth = 126 per kg and T 135 per kg are
£ wHR F T G TFR T A 1:1:2 F mixed with a third variety of tea in the ratio
s 3 fremrr w1 3R fow w1 e T 153 ¥ 1:1: 2. If the mixture is worth ¥ 153 per kg, the
et 2, A e TR <Y == T S ferctiom | price of the third variety per kg is :
?: (1) ¥ 170-00
(1) < 170-00 @) T 17550
' 75-50
@ =1 3) % 180-00
3) < 180-00
7 (8) (4) ¥ 16950
(4) F 16950
. e (5) Not attempted
. (5 s & : : _
. RAMA/D1/Page 5 mm%ﬁqm / SPACE FOR ROUGH WORK o 2 A,
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16. fFafifes # @ frg s =1 W9 Rt % =

T % for fore e } 2
o wdH
(2) e

3) WM

(4) uifadf

(6) I T T =R

17. 17 T 2022 9t i Ut gean Rew’ w1 awg | L7

T

1 “GE T T
@  “G, fam gwaw”
@ “cre & ma dn”
@) “wwe, fam g

6) SwIAma

18. Wﬁumqﬂwm%,mﬁam%_gl&
@Ta@ﬁ,mwm@ﬁ?_ '

16. Which of the following plastics is used for m:

electrical switches ?
(1) PVC

(2) Bakelite

(8) Teflon

.(4) Polythene

(5) Not attempted

What was the slogan of the ‘Patient Safety D
which was observed on 17th September 2022 ?

(1) “Meditation Replaces Medication”
(2) “Medication Without Harm”

(3) “Health With Yoga”

(4) “Health Without Medication”

5) N ot attempted

What is the name of the plant group whose
‘Plants bear naked seeds and are usually
perennial, evergreen and woody ?

(1 e . (1) Angiosperms
@ ?ﬁg’f‘ﬂ'sa (2 Pteridophyta
@) > 3) Bryophyta
@ e 4) . Gymnospernis :
&) o T (5)  Not attempted
19. e § g 3 o ' i
wﬁm-{;ﬁf 1:;);)%@?@3’_( 2020 T f®|19. In Olympics, India hag won the maximum
% 0 ; n.umber of Gold Medalg under which category
© w8 Since 1900 to 2020 ?
& Y (1) Hockey
) Fwh ) (2) oxing
© (3) Wrestling
FRTFaTSh (4) Shootin
®) W .
Wﬁm aEd - (6) Not attempteq:
age 6 & &1t & g womg SPACE FOR RougH WORK
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20. F=fafes # & S w0 e fEd omEEfRerR (20, Which one of the following statements is correct

% TR # ud g2 . about Uniform Resource Identifier (URD) ?
(D) T I W Iyerey w_AF GEE & R & T () It is a unique address or path for each
(erfgeir) w3a st umr 2 1. ‘resource located on the web.
(2) , T YT wdwy ¥ I T Tih I R | (2) It is a unique value associated w1th a
@) I8 ©h i 3w ¥ P gu Yewh H wes| o networkadapter. .
TS N = ThF RS ST Tehal & | (3) It is a unique address that can be used to
t 4 213 frnit =1 i @ e g 9 W uniquely identify each node in a network.
b} I T A9 A Y wog R 1 9 2 (4) It is a set of rules which is used to retrieve

linked web pages across the web.

(5) W T T =

(5) Not attempted

- 2l. femr qenr q ﬁwa; JETE & 2 .
Tm ‘113\3’3{13 : % 21. Google, Bing and Yahoov are examples of

1) AT Tl
. (1) Mobile Applications
(2) HFERR .
(2) Software

(3) WAl 3

< 3) Flrewalls
> b P .(4) Search Engines

(5) SR 7l 3 9Ea ‘

(5) _ Not attempted

o, mﬁammm%%mﬁm s

Which of the following is used to ensure accuracy

LiCic] (gﬁﬁ]’-{) aen foreaedia & 2 S . and reliability of data in the database “? ‘
(1) STeE" Fg bl . (1) - Database Constraint
@) e femmd AT " ' (2)" Data Dictionary
(3) ewrREE T il : j (3) Database Instance

- 4 STeE ThTT i) ' k (4) Database Schema

- (5) IW AR 3T =R , : | 7 (5) Not attempted
23, fy=fafea o A HH-H1 HELHAR ? : 23. Which of the following is the correct sequence ?
e NG [qIEEe > forediamge > remse > ﬁTﬂilEE 1 Megabyte > Kilobyte > Terabyte > Gigabyte

(2) TEETETSE > firermee > duage > fimmene (2) Exabyte > Petabyte > Terabyte > Gigabyte
(3) fae=mse > JeETEe > fipmemse > &Ege (3) Petabyte > Zettabyte > Gigabyte > Terabyte

@ fpAIETEE > fieraTEe > dieETEe > T (4) Kilobyte > Petabyte > Yottabyte > Megabyte
(5) IX g1 &l <Ted ‘ (5) Not attempted
~—— T% @ & TTT T / SPACE FOR ROUGH WORK
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24, . W % dREE § @9 F9 % Gew § fafafea 3|24, Which among the following Sfatements is/are
q B/ F T M correct with regard to the amendment of the
(a) HEE N AW Il H Big Gigm % et oft Indian Constitution ?
1T i TftE 1 R wie R (a) Parliament has the power to amend any
(b) TRum e s S99 9 ‘H‘TT § @ 9 part of the Constitution except for Part III.
R ST EsaT R (b) A Constitutional Amendment Bill can only
i Y be introduced in the Lok Sabha.
© ‘quﬁ £ Sty I IR fhe TR & g (¢) The Constitutional Amendment Bill once
3 fu e & 3 ! EIHAT Al B | . passed needs the assent of the President.
faeheq 1 = Eﬁ’fﬁm Choose the correct option from the codes gi
W) & ) below P e TmEE
(2) W9 (o) (1) ' Only (b)
@) (a) 3R (b) (2)" Only (¢)
4) (a)3 () (3) ' (a) and (b)
(5) IR & T = (4)  (a) and (c)
25 # oy 3y ‘H'm (5) Not attempted
. Fefafea amﬁt’ w»:r T % F
IEEWT & ? 25. Which among the following countries would be an
(a) WIE . example of ‘coming together’ federatlon ?
(b) I T IR - (@) India
© srRwm ‘(b) USA
@ @ (c) - Australia
ﬁﬁqmﬁﬁaﬁﬁm (d) Spain
ST aﬁlleﬂﬂ /
1) ) 3K () S:ig;se the corret.:t option from thfa @es glven
@) (a) 3R () () (b) and (c)
(3) (b) 3R (@) | @ @ad@
@ ()3 (b) : (3) - (b) and @)
(5) IR &l AT TR , | (4) (a)and (b)
: - (B
06, sefafe @ § SN g dm R T w (5) Not attempted ;
e, ‘wEmrE A, H ge fRva(d) Fretaiea 26.  Which among the following was/were feature(s) of
F A Pt /el 2 Subsidiary Alliance’, a system devised by the
@) eI guE T British in colonial Indla 2
(b) Tl wE % g AF A ﬁlﬁﬂ afis el ﬁ:; f:was devised by Lord Wellesley
& @t | : British army contingent was to be
stationed in the territory of the all
(© mqa%sﬁmm%m#aﬁwﬁ © The ally could ol the a'ly.
FES | © with an);r :t‘)}l 1.::lllever get into agreements
. " : T
(@ fafewm geavrft ug 6 FHae AARH ﬁiii?ﬂil q (d) The British' wereez: ﬁrotect the ally only
& R | ' from the internal threats to power.
;ﬂ? fe Wﬁ? & wl fared 1 Eﬁﬁm‘ E:;z::e the correct’ Optlon from the codes given
1) (a) AR (b) :
@ (@), (b) 3 () D (@and®)
3) (a)3f(d). Eg; Eax (b) and (c)
' a)and (d)
(4) ad (b) ) -
Only (b)
: ) I A 3 = (6) Notattempted
RAMA/D1/P AR
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27,

29.

;Y]

Q)

I Hge Yafe #, AR wtn o o A R
m%wmtﬁqﬁaﬁa@aﬁtﬁﬁmm%
ﬁmﬁﬁmmwmﬁ@m" |
() =W
(@) owefafa m
(3) sffvam wm

AN

(5) mﬂ‘é’f%m?ra%

ﬁ?&ﬁm%ﬁ%m(ﬁmé)ﬁsﬁaﬁ%@
wﬁeﬁaﬁaxwﬁ%amwm%? ¢

fafaw i

RLERIEa

@)
3)
@
®)

qumtrgaﬁmﬁmmaﬁ 191913%;{*

2 ,ﬁwﬁemﬁwﬁa%mwm?

ﬁsaﬂn‘cﬁﬁ?aﬁmm
mﬁiﬁvaﬁmm
arefiTg e fRvafreed
S AE & S

Q)
@)
)
@
)

e e # @ fr S @ w7

'-,"':t@amﬁm2%wﬁtﬁﬁaﬁmw%? '

ey
(2

gﬁmaﬁzgaﬁa:maagaqa(smﬁ:ﬂ)
¥ # IEEAGE TR (P - e,
emied 9 99FRRI AR ~ 205 fRAt)

mﬁ:ngr ~ggR0 TR W & WA e

127.

28.

, 29,

30.

C(4)

(D

G

-In a Market Equilibrium figure, if the Demand

curve shifts leftward and the Supply curve shifts ;

‘rightward 51multaneously, what is the impact on
" Equilibrium price ?

(1) Increases
(2

3)

Remains constant
‘Remains undecided
Decreases

(5) Not attempted

Selling off a part of the equity of a Public Sector el

Enterprise (PSE) to the public is called _ AL
Dlsmvestment '

(2) .
3)
(4)

(5)

Dehm1tat10n
Commumsatmrl
N at1onahzat1on
N ot attempted

| India’s first natlonahst art school was estabhshed '
“in which University in 1919 ?

()
@
(3

, Vlsvatharatl University
Banaras Hmdu University
Allahehad University

- Aligarh Muslim University-
Not attempted

4)

Wluch of the followmg waterways has been -

declared by the Government as the Natlonal
Waterways N.W. No. 2 ? ,

1 The Brahmaputra river between Sadiya
" and Dhubri (891 km) ' :
(2) The West-Coast canal ' in.  Kerala

(Kottapuram - Kollam, Udyogamandal and
: Champakkara Canals — 205 km)

. Specified Stretches
Krishna rivers

(3) of vGodavari and

along with

Kakinada — Puducherry Stretch of Canals v

. ®
b ) W afedt & ﬁlaz g 1078%Iﬁ ) ) (1078 km) - : /
. (4) TARETR 3t 3%‘311 '3Fo A TFTT qﬂ _ (4) The Ganga river between Allahabad a.nd :
~ (1620fRH1) » Haldia (1620 km) ,
\(5) e T 3 —q@ * () Not attempted i
- RAMA/D1/Page 9 & & a: féru T / SPACE FOR ROUGH WORK
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31. ‘trrw’wﬁagiﬁ‘ma’% :

L. 3w
@ W

x(8) W,

L@ T

5) wq—gfamafga

(2)

- (d)
@
“(5)

32.'~ﬁmﬁahﬁqf@ammmg
(1)

3 1 e, T e |

ﬁ%ﬁ,@ﬁ,ﬁtﬁﬁ?ﬁﬁﬁ?ﬁé[ _
SR e e Et’r—hiaﬁ%@ ' s
|, e, W“W‘aﬂ’@ml* ’

ST IR |

. 83. ‘ﬁﬁﬁﬁ%ﬂﬁﬂ%@&gmgm. 4
: amﬁ‘ﬁﬁfaﬁt‘ga’ﬁaﬁﬁf%wﬁqm : oy

- AARR R ?
@ :aaawrm
(2) e IR
@ SmewE
-4 aﬁ%ﬁm:ﬂm ‘
(). mqﬁéﬁﬁﬂ%ﬁ

34. ﬁtm%awﬁ‘awf’w:ﬂgmwmw

‘ _-3'7"
RRE ARRL |~
@ W™
@ T -
@ ww
' (5) T A

e
e
@
H6)

RAMA/D1/Page 10

zqsiﬁr& % foru: wr-r / SPACE FOR ROUGH' WORK 3

Eﬁ’rﬁml
@ e
@ @
(3) . I
4) IR
() I

fomma
iy
it

IR TE T =

@
@ R

L@ s

@ s
G I

33 m&’mqqmgﬁamm .

OB R T
Q) A AW qw
® W am
@ mwgmy
- (5) am-q-gfamm
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39. 9% FF-G1 GEH T & S A I 8 AN Foa=E (43, Fu g ¥ o v R
o | -‘a"@"’mwmmﬁ?ﬁnwﬁl
i @ W '
(2) M
3 = @ dH=#H
4 #H @) IN
®) IR T <y (4) =
(5) I A AT 4TEd
40. ‘HR-UE @ qE G4 Anie w1 o g
(1) =ga gt g1
(2) «ga HEdt A ; :
(3) -3 UIE F1 I I a1 - ﬁqm%aamﬁmﬁzwm’rﬁmw :
(4) &4 9 e . '
OREGE (1) g 3 H I S T
(2 e QD d e R
B iy v e e £ ® AT
(1) w3 frm 4) MA@ e
3) = I fasioor .
(4) evw 3k fadw
(5) IR TEF T =R _
45. 3T Wik 1 e 757 R -
' L : | W
2. - Fifafga famredi # om g 1 gg=e HT | TR
@ g @) W g g i
;) @, ‘
4) <@ _ ‘
& smHEmEm 7 ,mqﬁamma F e
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Choose the alternative which beét expresses the

46. Choose the correct passive voice form of the|50. G
following sentence. ' meaning of the underlined idiom. |
Sheetal will have finished the work. Her speech is always full of tall stories.
(1) The work will be finished by Sheetal. (1). heroic stories
(2) The work will have been finished by (2) exaggerated tales
Sheetal. _ i )
(8) Sheetal will finish the work in due time. (8) realistic stories
' (4) The work is finished by Sheetal. (4) long tales
(5) Not attempted (5) Not attempted
47. Rearrange the following parts of a sentence . ; g '
labelled as PQRS to make -a meaningful 51. In the following question, out ?f the four
sentence alternatives, choose the one which can be
P. de e;is is to be substituted for the given sentence.
Q. on to the future “An apartment building in which each apartment
R. the power of noble is owned separately by the people living in it, but
- also containing shared areas.” i
S. preserved and passed _
(1) SQPR - (1) Multiplex
(2) PQSR " (2) Duplex
(3) RPSQ (8) - Caravan
(-4) RSQP. (4) Condominium
(5) Not attempted
' (5) Not attempted
48. Pick out the correctly spelt word.
(1) Outrae . R 52. Choose the word which is opposite in meaning to
i the word underlined.
(2) Outragous _
(3) Outrajious “Earthquakes are frequent in Japan.”
(4 Outregeous (1) unusual '
(5) Not attempted Q) few
49. Pick out the part of the sentence which has an (@), raye
error. If there is no error, your answer is (4). (4) extinct
The simplest method (5) Not attempted
A
of welding two pieces of metal together 53. Chposg the word which is opposite in meaning to
B * the word underlined.
is known as pressure welding. | “She is slender in figure.”
C (1) frail
(1) B ( ‘
: 2) stout
(2 A -
3 C 3) slim
(4) No error (4) strong
a4 (5) Not attempted ' (5) Not attempted
/
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" Read the following passage carefully and answer
questions 54, 55 and 56.

India is one of the oldest civilizations of the world,
which offers a kaleidoscope of cultural experiences. The
- country has a rich heritage and numerous attractions.
; It stretches from the snow-capped Himalayan peaks to
" the tropical rain forests of the south covering
32,872,263 square kilometers. It is the world’s seventh
"-\ largest country, distinguished from the rest of Asia by
" mountains and the sea which gives the country a
 distinct geographical identity. India showcases a
;-j'vaI'iety of heritage resources crafted hundreds of years
- ago from huge heritage sites to pristine sea-beaches.
" Tourism contributes to substantial economic, ‘social,
- cultural, educational and political development that
- generates both direct and indirect employment.

54. Find out a word from the above passage which
means ‘a country’s history, traditions and culture

t

etc’.
(1) heritage
(2) pristine

(8) attractions
(4) identity
(5) Not attempted

55. Tourism as an industry also contributes to our
country’s :
(1) agriculture and religion.
-(2) education and employment.
(3) religion and statistics.
(4) population and employmeht. '
(5) Not attempted

86. Besides the world’s oldest civilizations, India is

57. Choose the most appropriate preposition to fill in

the blank.

She succeeded dint of perseverance and
hard work.

(1) from

(2) by

3) to

(4) for

(5) Not attempted

58. Fill in the blank with the appropriate option
_given below.

The Battle of Waterloo was won _________ of
Eton.

(1) on the playing fields
(2) for play fielded }
(3) in the played
(4) with the play field
(5) Not attempted

59. Pick out the correct indirect speech form of the
following sentence.

“T have bought a house,” he said.

(1) He said that he has bought a house.

(2) He said that he bought a house.

(3) He said that he would buy a house.

(4) He said that he had bought a house.

(5) Not attempted \

60. The old man is looking forward the

also the world’s largest count-;ry. (Vll;ilts izf his grandchildren.
(1) fifth 5 1o
(2) tenth .
(3) seventh (3) with
 (4)  third (4) for
‘____(5) Not attempted (5) Not attempted
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61. What is the One Time Cash Award for Mahavir

61.
QR fear S & 2 Chakra Awardee ?
(1) ¥ 1,00,00,000 (1), ¥ 1,00,00,000 .
(2) ¥ 4,00,00,000 (2) T 4,00,00,000
(3) ¥ 6,00,00,000 (3) % 6,00,00,000
(4) < 2,00,00,000 (4) . T 2,00,00,000
(5) " I T & = (5) Not attempted |
62. f&a W =t ‘g w1 R HET Sl ®? 62. Which city is known as the ‘Heart of Haryana’ 7
@) (1) Jind ° _
(2) HS"ﬁa (o) ' (2) Gurgaon (Gurugram)
(3) e (3) Panchkula
(4)  3fETRT ‘ . (4) © Ambala ;
(5) I AR < ATEd (5) Not attempted
63. Eﬁ:qwn.a;r T Ut =R ? | 63. ‘What is the State Bird of Haryana ?
1) WL (1) Great Egret
(2) Tt ush (gfim =8) .. (2) Humming Bird
(8) e iR .(3) Black Francolin
(4) = T | (4) House Sparrow
(5) AKX G &1 98d : (5) Not attempted
64. The climate of Haryana is :
64. i@ i SiTay B : . .
) e Wi T ). ‘Sub-Hum.id Temperate. type
(2) Sl 6 AR THT (2) qu-Tropl.cal Dry Coptmental type
(3) T IATAT HFR ' (3) Su’_b-Humui Sub-Tropical type
(4) . Continental type
e TR Con
E:; IR 78f 37 e (5)  Not attempted
5. g & sy e s e R 4 7 65. X;Iér: is dthe Blue Bird lake located in Haryana ?
; in
g; Gﬁ; (2) Faridabad
o (3) Karnal
(@ (4) Hisar
) feam qﬁ S TR (6) Not attempted
(5) I |
= s O 66. Which district of Haryana receives the highest
66. gfen ”a;mﬁaﬁ s & @ 7 rainfall ?
(1) s (1) Ambala
(2) FwE (2) Kurukshetra
(8) far (3). Bhiwani
4 feEr (4) Hisar
(5) It el & =Ed (5) Not attempted
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le7.

 Where is Baba Ladaana Tirth Sthal situated ?

67. ST wIarT el woret el oA R 2 -
(2)  IHEm (2). ‘Ambala _
3  Fua (8) Kaithal G ‘ Yy
YRRV - - i MG AR 4) Rewari ¢ o
5) wqﬁhm . (5) Not attempted
T 68. When was the first permanent Lok Adalat set up" |
- 68. Mﬁmm@mmaﬁmmgv in Haryana ? , |
1) 10113’ 2005 (1) 10th May, 2005
1 #EWI, 19 . .
& 864, (3) 1%t November, 1966
(4) - 17598, 1955 ‘ é5 i "
S . : anuary, .
5) 3IW™W .alsa . =
) ‘-ré’fém N ;(5_)‘ Not attempted
69. TR YuRR T a:ﬁrﬁm 1994 o Fom X ¥|e. Whien of the following committees is nof
© ogEr Retafed 3§ & S affy tl?:l'ma Hﬁ‘lﬁ - appointed by the Panchayat Samiti according to
ﬁﬂ'ﬂ? #3’7 $ It 2. : : Chapter X of the Haryana Panchayatl Raj Act,
? - _
& " ﬁ r 1994 |
1) 'General Comm1ttee
2.’ (2)" Health and Welfare Committes '
ealth and Welfare Commi ee
(3) fam, é@qﬂm (aqﬁ%z)qaa‘mmuﬁﬁm e :
‘ ‘ (8) Fmance Audit and Planning Commlttees
@) - S . (4) Social Justice Commttee
G w:ﬁ;ﬂ‘é:n HEEI B ."7 j : (5)' Not attempted, :
70 HieH 1 ﬁ ﬁq T FRamm %? ﬁﬁﬁ % HT#FI =n'q‘r |70, Match the ancient names of the dlstncts in
Wnﬁﬁqmmmmg@mm i ‘Haryana given in Column I with their. present
p names 1n Column II :
W WII :
o : ; Column'I Column IT
L - T % B .
i T § L Sairishaka a. Sirsa
I o . Kanoud" b.  Kaithal
TIL qrftaa e . :
" III.  Kapisthal c Panipat ‘
SRR e | AEHTG. IV. Panduprastha = d. Mahendragarh
(1) I—a; ,II-—d; IH.—b; IV—c (1) I_é; If—d; III—b; IV—c e iz
A2) - 1-d; T-a; III-b; IV—c (2) I-d; Il-a; III-b; IV—
(3) I=¢; II-b; IlI-a; IV—d ~ (8) 'I-¢; II-b; IMl-a; IV-d
4) I-b; II¢; II-d; IV-a () I+b; I 1I-d; IV-a
G (5). I 7@l 3T = (5) Not attempted ‘
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75,

e e T Rre R ;

Cons1der the followmg statements

3 71.
i (a) =, gheamn & Al gid W F R (a) Chope is a style of shawl manufactured in"
(b) et % 39 &9 B GeHH % AW @ ft ST 0@ ‘ Haryana.
B : ‘ (b) This shawl style is also known as Phulkan
IR A ¥ HH-A1/Q HYF T B/E? Which of the statements. given above is/are
(1) %aa (b) correct ?
@ @WomT (1) Only (b) '
@ @WHAIIETE (2) Both (a) and (b)
4) 599 (a) _ £ _ (3) Neither (a) or (b)
(5) I A = N | @ Oy@
(5) Not attempted :
72'. T ik W gna < ﬁ‘ﬁ"‘ halig 't2£ When was the famous Badkhal lake of Haryana
(1) =9 19471} : developed" :
2 = 1950 7 (1): In 1947
@ ad 19741 (2 In1950
(4) 19407 3 In1974
(5) maﬁé:na@a @ 4o
: : ‘(5)‘ Not attempted _
w1 4 mﬁm A T3 & ™ 73.  After the death of Na_]lb-ad-Dawlah in 1770 AD,
Tt f fore 2 ‘who:ascended his throne ? i
s (1) JabitKhan i
), T (@ NajafKhan °
) mﬁm - (3) * Mahadji Scindia
(@) ST e Sl " - (4 Ahmad Shah Abdali
(&) A %113’?1 ; ‘ (5) Not attempted
L ’E'ﬂ‘TW" = a-?l:[m K ﬁT‘q' aﬁ'{ q'rq‘eﬁ ?ﬁ Eﬂﬁﬁ 74. “W"tnch dance form of Haryana is dedlcated to
?? - Shiva and Parvati ?
(1) = :i?q (1) Lasya Dance
(2 WEETd (2 Ratwai Dance
(@) TR (8) . Gangor Dance *
(4) HO A s § : - (4) - Manjira Dance
() }Wﬁhm (YRR T " (5)  Notattempted
BN ATEI Hfgeneti gr W‘f qg:n ST 2 ? . 76. Where is the Chhaj ornament worn by women ?
(. " - - (1) Neck
(2) 'Y (2)".'Hand :
i (3) Waist
(4) wer. , ey
), TR (5) " Not attempted
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BT i we, 2021 — 22 F AR gRETN §

How many.District Level Treasuriés are there in

76- 76.
3 T foren wlig SRS 2 Haryana according to the Haryana Economic
1 22 , Survey, 2021 - 22 ?
@ 23 D 22
(3 24 (2) 23
@ 25 (3) 24
(5) S T 3 <R @ .25
j N (5) Not attempted
77. TN § T A I O g e (NBHM) 77. National Beekeeping and Honey Mission
ST AT oA o o zjo ~ (NBHM) Scheme was started in which year in
(1) 2018 Haryana ? . '
(2) 2019 (1) 2018
@) 2017 2 2019
(4) 2020 (3) 2017
5) I TE I T (4) 2020
(5) Not attempted

~ How many vﬂlages have been associated with

78. TR T, Wﬂh’ﬁw%mmzozzw L,
a3 wfat = St & 2 | ‘Mhara.Gaon, Jagmag Gaon Scheme till Ja.nuary
1) 5,569 2022 ? :
" (2) 4,806 (1) 5,569
(3 3,560 (2) 4,806
(4) 3,216 (3) 3,560
(5) I o] ém =TEd 4) 3,216
(5) Not attempted

79.

.gﬂmmﬁﬁgamaﬁﬁgam 2021 — 22a$

79.

What is the total number of electricity consumers

foraft 8 2
@ 71,17,334 ' g)Ha;Z?:ZE e
@ 72,17,283 @) 172,17,283
(3) 173,07,992 (8)/ 73,07,992
(4) 68,57,609 (4) 68,57,609.
- (5) AU AL HT‘@‘% (5) Not attempted
80. AN TS w9E F fordfig-ad 2022 —23 # FdA T 80. What is the percentage of the total expenditure

mﬁmmgﬁsmﬁrm%a}aﬁm%gﬁuﬁaﬁm
™R ?

allocated towards Education in Haryana State
Budget for the financial year 2022 — 23 ?

(1). 164% 1) 164%
2 14-2% (2). 142%
3) 15-2% (3) 152%
(4) 182% 4) 182%
- (B I & & =Ted (5) Not attempted
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81.

820

85¢

| U it e (ﬂm) 1 s e f
B3 ?

1) 2018

(2) 2016

@) 2017

(4 2019

(5) I TG aTz%t

frafaRen & ¥ sfaon & fee =afre = Q9 % &3

' ’ﬁzozzw"waﬁ’wmﬁww*) ,

(1) g sfoe
(2) =S g
(3) I fir
4) v
(5) I FEI . =EQ

ﬁaﬂ@?ﬁmgﬁmmﬁag&am%ﬁmm%m
Tl 8 ? :

(1) @i=q,
(2) @E=
3) I
4) I

G) IR IR

2010 & firg Wit Y TR Y AR ToE H gw
fen mn 2

1) ¥

(2) geret

(3) Rt

(4) s _

(5) It T 1 =Ed

2015ﬁﬂ?ﬁaﬁ7émmﬁrnﬁam
TR We R T ?

(1) =g =i

(2) 9TEt

3) IR wreHw

(4) s

(5) e i ¥ =mEd

81.

82.}

83.

85.

In which year was SAIL National Boxing Academy

.(Rohtak) inaugurated ?

(1) 2018

(2 2016

(3 2017
(4) 2019
(5) Not attempted

Which among the following personalities from
Haryana received the Padma Shri award in 2022

. in the field of sports ?

(1) Sumit Antil

(2) Bajrang Punia
(3) Yuvraj Singh
(4) Sandeep Singh
(5) Not attempted

Sportsperson Seema Punia Antil hails from
which village in Haryana ?
(1) Khandra

- (2)  Khewda
- (@) Kaluwas
(4) Ujhana
- (5) Not attempted

. Which language was accorded the status of th
~ second official language in Haryana in 2010 ?

(1) Urdu

' (2) Punjabi

(3) Haryanvi

. (4) English

(6) Not attempted -

Which Haryanvi film released in 2015 receive
two National Awards ?
(1) Chand Chakori
(2) Pagdi

() Veer Ghatotkach
(4)  Beera Shera

(5) Not attempted
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6. o sl reRg _
8 i ﬁ:;ga Gic] fiw T § | wmr=ra: 7@ [86. Three statements are followed by three
e B ot Sl I T A T TE fofg conclusions. Take the statements to be true even
gty FE9 A wA-ad et fyg o et if they seem to be at variance from the commonly
il g known facts. Decide which of the given
P TO W THTE | conclusions logically follow from the given
statements.
TS FeR @ § |
of 5 Statements: Some plates are spoons.
T el § |
At () o wd | Some bowls are plates.
(II) F® FR 3 All spoons are bowls.
T § | :
) Fs e Conclusions : (I) Some plates are bowls.
L | .
' (I) Some bowls are spoons.
(1) haat 11 3R III Frerera & (ITI) Some spoons are plates.
(2) Saw I3 I fsver & ‘
(3) @it I, II 3i 111 e & (1) Only II and III follow
(3) AllL II and III follow
(5) I L <1 ATRd
(4) OnlyI and II follow
_ (5) Not attempted
g7. Fefeifaa dearens J@en #§ y@ o8 () % ®H | _
HH-H g ATt ? ' '  '|87. Which number will come in place of the question
27,216,729, ? , 3375 mark (?) in the following numerical series ?
1) 1728 27, 216, 729, 2 _, 3375
1) 1728
@ 1500 @
: (2) 1500
(3) 20736 e
(3) 20736
4) 1729 @ - g
® 3T R (5) Not attempted
88. frffaa # fir v zﬁ:'{-m 2? 88. Find the odd term out.
5, 15, 20, 24, 25 5, 15, 20, 24, 25
1) 20 1 20
(2) 24 (2 24
3) 25 3 25
@ 15 ) @ 15
(5) I AT & o1& (5) Not attempted
T wTd % foTu T / SPACE FOR ROUGH WORK
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89.

90.

91.

g3 fet 2 W1 # ‘over and above’ %I ‘da pa ta’
3 ‘0ld and beautiful’ ®I ‘sa na pa’ foran Smar .
a1 36t e W # ‘and’ Y fpw weer o e ?

(1) pa
(2) ta
@) na
4) da
(5) I TE M =mE

o 9 &1 a1 T S STe @l | e TR mn
21 4 :

(1) TUNE:ETNU
(2) MORE : ERMO
(3) PLAY:YPAL
(4) HOPE : EHPO /

(5) I AL o TEd

o F SARA % SR W 100 s # e W §
Siree fydfia fFr 9@ & | 98 $9@ 70 s=i A
SiFoiz frafd aX G i T% T W 3 diheie

sfifer e @6 | R % R g R Siwae

89.

91.

In a certain code language ‘over and above’ is
written as ‘da pa ta’ and ‘old and beautiful’ is
written as ‘sa na pa’. How is ‘and’ written in that

code language ?

(1) pa-

(2) ta
(3) na-
(4) da

(5) Not attempted

Find the odd one out which is coded differently.
(1) TUNE: ETNU

(2) MORE : ERMO

(3) PLAY:YPAL

(4 HOPE:EHPO

(5) Not attempted -

|
|
i
|
i

On Ajéy’s birthday, chocolates. were to be;
distributed equally among 100 children. He could§
distribute to 70 children only so that each childf
got 3 chocolates extra. How many total

e 35 “chocolates were available for distribution ?

A 210 1) 210 | |

B doon @ 900

3 300 (3) 300

@ 1700 @ 700

(5) I & Tm =TEd ) . NOt‘ atfempted ‘ '
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92. freffam ¥ fir vg Hifdr | 92. Find the odd one out.
(1) ugd - % (1) Petal — Flower
(2)  3Teht — 7 (2) Finger — Hand
(3) % _dEn  (3) Brick-Wall .
@) " _ gl (4)  Auditorium — Chair
(5) T Tﬁ?ﬂ -y (5) Not attempted
: 93. Select the combination of numbers so that the
8. T3 dem T Tﬁﬁm Roreeh srgem sierd =t letters arranged accordingly will form a
mmaﬁﬁ@mWWWﬁ meaningful word : :
| fg‘gi?g GNAEHR
1 2 345 6.
_(1) %5214, & (1 5,3,21,4,6
- -2 681,286 B @) 5,3,1,2,6,4
© (3).83,5,6,2,4,1 @ 356241
4) 5,38,1,2,4,6 ‘4) 5,8,1,2,4,6
(6) W T S AR (5) Not attempted
94. FrE THR ‘ANGLES’ ‘=1 aau ‘GNASEL’ ¥ %, :-rcﬁ 94. ‘ANGLES’ is related to ‘GNASEL’ in the same
Y&R ‘SQUARE’ 1 HaY %aﬁ gﬁm ? " way as ‘SQUARE’ is related to _? .
(1) UQSARE (1) UQSARE -
(2) USQERA oy () USQERA
(3) ‘UQSREA - . | © «® UQSREA
(4) UQSERA . N i A : (4) UQSERA
(5) 3?1'{ =€ T I e (5) Not attempted ;
95. Fr@ WHKR ‘BLUNT 1 &g ‘lBuTn’ e, E'Gﬁ W 95. ‘BLUNT is related to ‘lBuTn’ in/the same way as -
' ‘SHARP® %1 §a ﬁmﬁ 3},-" ? . * ‘SHARP’ is related to ? .
Y “Draits” - (1) PraHs
‘ ' (2) hSaPr
(2) hSaPr g - (3) AhSpR -
(3) AhSpR . (&) HspaR
) . Hepalt - (5) Not attempted
G WA AR i E . .
o 96. XYZABCQRSOPMNJHI#+12345.
9. XYZABCQRS OPMNJHI#+123 45 © . Which of the following is third to the right of the -
&G T F 7o e | <Rt 3R ﬁt{ﬁﬂﬂiﬂ i " element which is exactly in the mlddle of the
draT uew FH-a1 8 ? given sequence ?'
(1) N (1) N
@ J. @ J
(3 H @ H-
4 M y “ M
(5) AT G & ar%%{ ' (5) Not attempted
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97. ﬁnﬁﬁa#@mﬁ@mﬁ‘}c%mmaﬁq—tﬁ

98.

. 0,7,26,X,124, 215

< (1) 65

2) 62 °

3) 63 .

4) 60 '

(5) - W & 3 9

9 Ru T wsg % quil = oy w0 99T S wEy

T T B I HIR | o
SUPERVISION

(1) POISON

(2) REVISIT

(3) NERVOUS

@ RESIGN

99.

(5) m#ﬁmmﬂ
I T Yol & e § | e T R s
T W AT Igem R Fegarst #§ Al gHem &

© Rrepr @ S ® 1 3/ 5 QT % o it svawEw R |

o Frferfaa # @S- wias w2

() oW sRA ¥ R fefm=mE .

(@ o 3@ 5 R % i R 3 g W IR &

(3) oM I 5 fF * T orww I AR W
fuferean =z &1 +ff syram =4 | |

(4) I I Dt { Frewa

() I T AT AR

.100. ‘A’, ‘B’,_‘C,, ‘D’, G 0% 315“: 0 T m.ﬁﬁ % | ¢C, D -é EE|

1w T o B i D weR e
BPEIATREICPATAR I BPATRIAL?
() c3RE A

97.

Which number will replace X’ in the given
pumerical series 7 -
0, 7, 26, X, 124, 215

(1) 65

(@) 62

"~ (3) 63

98.

@ 60

(5) Not attempted

Find out the word which can‘be formed by using

~the letters of the given word.

~ SUPERVISION
(1) POISON

(2 REVISIT -

(3 NERVOUS

99.

(4) RESIGN
(5) .Not attempted

You are the owxier of a restaurant. One of your
delivery boys met with a minor accident while
rushing to deliver the food on time. He needs rest

for 5 days. Which of the following actions you will

take ? o, Ces
(1) You will suspend him for 5 days.

; (2) You will ask him to go on leave without pay

for 5 days. , _
(3) . You will give him paid leave for 5 days and
will also pay for medical expenses.

(4)  You will terminate him from the services.-

~ (5) - Not attempted

100.

‘A, B, ‘C,D, ‘E’ and ‘F are six persons. ‘C’ is
older than ‘D’ ‘A’ is the youngest. ‘B’ and ‘D’ are
of equal age. ‘B’ is older than ‘E. Cis yoﬁnger
than ‘F’. Who are older than ‘B’?

(1) CandE '
@ FaRE (2) FandE
3) F3rC @) FandC
@4 Oo3xD = 4 CandD
(5) I 7 T wmd _(8) Not attempted’
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